I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 38-2 (+HHT) A 38-2 HMBELE
= HETRTH 38-3 (+HHT) A 38-3 HMBELE
= HETRTH 40 (+ B H71) A 40 HMBELE
= HETRTH 41-2 (+HHT) A 41-2 HMBELE
= HETRTH 41-6 (+HHT) A 41-6 HMBELE
SHET/ATH 41-10 (+ EHHT) B 760-3 BEME
(+HHT) B 755-3 BEHE
(+HHT) B 759-3 BEHE
(+HHT) A 41-3 BEME
(+HHT) & 41-5 BEME
(+HHT) A 41-10 HMELE
= HETRTH 41-15 (+HHT) A 41-15 HMELE
=S HET/ATH 41-16 R
= HETRTH 42-1 (+HHT) A 42-1 HMELE
= HET/ATH 42-3 R Hh &
=S HET/ATH 42-4 R
=S HET/ATH 42-5 iR Hh &
= HETRTH 42-6 iR
= HETRTH 42-7 iR
= HETRTH 43 (+ HHT) A 43 MELEE
= HETRTH 600-5 (+ HHT) H 600-5 MELEE
= HETRTH 603-2 (+ HHT) H 603-2 MELEE
= HETRTH 604-2 (+ HHT) H 604-2 MELE
= HETRTH 604-3 (+ B Hr) H 604-3 hELEER
(+BH7) B 604-7 BEE
(+BH7) B 616-4 BEE
(+ B Hr) B 618-9 BEHE
(+ BHT) H 618-10 BEME
(+BH7) B 619-4 BEE
(+HHT) B 620-6 BEHE
(+HHT) B 622-6 BEHE
(+HHT) B 617-5 BEHE
(+HHT) B 617-6 BEHhE
= HETRTH 604-4 (+HHT) H 604-4 hELEER
(+BH71) B 614-2 BEME
(+BH7) H 615 BEME
(+HHr) B 616-2 BEHME
(+HHr) B 618-3 BEME
(+HHr) B 619-2 BEHME
(+HHr) H 620-3 BEME
(+HHr) B 622-3 BEME
(+HHT) H 617-2 BEME
= HETRTH 604-5 (+ HHr) B 604-5 HhELE
(+ HHr) B 614-3 BEME
(+ HHr) H 618-4 BEME
(+HHT) H 620-4 BEME
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 604-6 (+ HHr) B 604-6 HhELE
(+ B HT) H 616-3 SEHE
(+ B HT) T 618-5 SEHME
(+ B HT) H 619-3 SEHME
(+HHT) B 620-5 ESEHE
(+ B H7) B 622-4 BEHE
(+HHT) H 617-3 BEME
=S HET/ATH 604-11 R Hh &
=S HET/ATH 604-12 R Hh &
=S HET/ATH 604-13 R Hh &
=S HET/ATH 604-14 R Hh &
SHETARTH 616-1 (+ BHT) B 616-1 HELE
(+ B H7) B 618-13 BEHE
(+ B H7) B 725-10 BEHE
(+ B H7) B 617-1 BEHE
= HETRTH 616-5 (+HHT) B 616-5 HMELE
SHETARTH 616-6 (+ BHT) B 616-6 HELE
(+ HHT) B 617-7 BEHE
= HETRTH 616-7 (+ HHT) B 616-7 MELEE
= HERTH 618-2 (+ HHT) B 618-2 hBELEER
(+BH7) B 621 BEME
= HETRTH 618-11 (+ HHT) B 618-11 MELEE
= HETRTH 618-12 (+ HHT) B 618-12 hBELER
(+ BHT) H 618-15 BEME
(+ BHT) H 702-12 BEME
= HETRTH 618-16 (+ B Hr) H 618-16 MELEE
= HETRTH 622-2 (+ B Hr) B 622-2 MELEE
= HETRTH 622-5 (+ B Hr) B 622-5 MELEE
= HETRTH 622-7 iRt
= HETRTH 622-8 iRt
= HETRTH 622-9 iRt
= HETRTH 623-2 (+HHT) H 623-2 MELEE
= HETRTH 689-3 (+HHT) H 689-3 MELEE
= HETRTH 689-4 (+HHT) H 689-4 MELEE
= HETRTH 689-5 iRt
= HETRTH 689-6 iRt
= HETRTH 691-1 (+HHr) B 691 BEME
(+HHr) B 691-1 HMBELER
(+HHr) B 778-6 BEME
(+BH7) H 780 BEME
(+HHr) H 780-3 EEME
(+HHT) H 781-1 BEME
(+BH7) B 784 BEhE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 693-1 (+ B H71) H 690-2 BEHhE
(+ BHT) H 692 BEME
(+ BHT) H 693-1 MBELE
(+ B HT) F 704-20 SEHE
(+ B HT) H 708-1 SEHME
(+HHT) H 708-2 BEME
(+HHT) H 708-3 BEME
(+HHT) H 708-4 BEME
(+ EHT) B 709-2 BEME
(+ B H7) B 710-1 BEHE
(+HHT) H 781-2 BEME
= HETRTH 693-2 (+ B H7) H 693-2 MELEE
SHETARTH 695-9 (+ BHT) F 695-9 HhELE
(+ B H7) B 892-2 BEHE
= HETRTH 695-16 (+ B H7) B 695-10 MELE
=S HET/ATH 695-17 R
SHETARTH 697-2 (+ BHT) B 695-2 BEME
(+ HHT) H 695-3 BEHE
(+ HHT) H 697-2 MELEE
(+ HHT) B 697-3 BEHhE
(+ HHT) B 698-2 BEHE
(+ HHT) H 698-3 BEHE
(+ HHT) H 699-2 BEHhE
(+ B Hr) H 699-3 BEHhE
= HETRTH 6991 (+ B Hr) H 699-1 MELEE
= HETRTH 700-1 (+ B Hr) H 700-1 MELEE
= HETRTH 700-3 (+ B Hr) H 700-3 hELEE
(+BH7) F 700-4 BEE
(+ B Hr) H 700-5 BEHhE
(+HHT) H 700-6 BEHE
(+HHT) H 701-2 BEHE
(+HHT) H 701-3 BEHE
(+HHT) H 702-2 BEHhE
(+HHT) H 702-3 BEHhE
= HETRTH 700-7 (+HHT) H 700-7 MELEE
= HETRTH 700-8 iRt
= HETRTH 702-4 (+HHr) H 702-4 HMBELER
(+HHr) H 707-1 BEHhE
= HETRTH 702-5 (+HHr) F 702-5 HMBELER
= HETRTH 702-6 (+HHr) F 702-1 BEME
(+HHr) ¥ 702-6 HMBELER
(+ 5 Hr) F 703-2 BEME
(+ HHr) H 892-3 BEME
(+ HHr) H 893-2 BEME
= HETRTH 702-8 (+ HHr) H 702-8 HhELE
= HETRTH 702-13 (+ HHr) H 702-13 HhELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 702-16 (+ B H71) F 702-1 BEHhE
(+HHT) B 702-16 HMBELE
(+HHT) B 702-18 ESEHE
(+ B HT) H 703-5 SEHE
(+ B HT) H 703-6 SEHE
(+HHT) H 704-4 BEHME
(+HHT) H 704-5 BEME
(+HHT) B 704-10 BEHE
(+HHT) B 704-12 BEHE
(+HHT) B 718-4 BEME
(+HHT) B 721-1 BEHE
(+HHT) B 722-1 BEHE
(+HHT) B 7241 BEHE
= HETRTH 702-21 (+HHT) B 702-21 HMELE
= HETRTH 702-22 (+ B H7) B 702-22 MELE
= HETRTH 704-2 (+HHT) H 704-2 HMELE
=S HETRTH 704-3 (+HHT) H 704-3 HMELE
(+BH71) B 714-3 BEME
(+ HHT) B 718-3 BEHhE
(+ HHT) H 707-2 BEHhE
= HERTH 704-19 (+ HHT) H 695-4 BEME
(+ HHT) B 695-8 BEHE
(+ HHT) H 704-19 MELER
= HETRTH 709-2 (+ B Hr) F 695-2 BEME
(+BH7) F 695-11 BEE
(+ B Hr) ¥ 709-2 MELEE
(+BH7) F 709-4 BEE
(+BH7) ¥ 709-5 BEE
(+BH7) ¥ 709-6 BEE
(+BH71) ¥ 713-2 BEME
(+BH71) ¥ 713-3 BEME
(+HHT) - 897-1 BEHE
(+HHT) H 897-10 BEME
(+HHT) H 951-13 BEME
(+HHT) H 951-15 BEME
(+HHT) H 951-20 SEME
(+HHT) H 951-21 SEME
(+HHT) H 951-22 SEME
(+BH7) B 954-1 BEME
(+BH7) B 954-7 BEME
(+BH7) H 954-8 BEME
= HETRTH 709-4 (+ 5 Hr) H 709-4 HMBELER
= HETRTH 710-3 (+ HHr) B 709-3 BEME
(+ HHr) H 710-3 HhELE
(+ HHr) B 711-6 BEME
= HETRTH 711-2 (+ HHr) B 711-2 HMBELER
= HETRTH 711-5 (+ 5 Hr) B 711-5 HhELE
= HETRTH 711-9 (+ BH71) H 711-9 HMBELE
= HETRTH 711-10 (+ BH71) H 711-10 HMBELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 713-1 (+HHT) F 713-1 HhELH
(+ B HT) H 951-2 SEHE
= HETRTH 7141 (+HHT) H 7141 hWELR
=S HETRTH 716-2 (+ B H71) F 716-2 HhBELE
(+ B HT) H 951-1 SEHME
(+ EHHT) B 961-2 BEME
= HETRTH 716-3 (+HHT) ¥ 716-3 HMELE
= HETRTH 716-6 (+HHT) ¥ 716-6 HMELE
SHET/ATH 717-1 (+ EHT) B 7171 HELE
(+ B H7) B 722-2 BEHE
(+ B H7) B 723-1 BEHE
(+ B H7) B 723-3 BEHE
(+ B H7) B 735-9 BEHE
(+ B H7) B 740-1 BEHE
(+HHT) H 740-7 BEME
(+ B H7) B 756-2 BEHE
(+ B H7) B 757-2 BEHE
(+BH71) H 743-8 BEME
(+BH71) B 743-9 BEME
(+BH71) B 744-1 BEME
(+BH7) B 744-3 BEME
(+BH71) B 744-4 BEME
(+BH71) B 744-5 BEME
(+BH7) B 744-7 BEE
(+BH7) B 745-8 BEE
(+BH7) B 746-2 BEE
(+BH7) B 754-2 BEE
(+BH7) B 754-3 BEE
= HETRTH 717-3 (+ B Hr) ¥ 717-3 MELEE
= HETRTH 717 (+HHT) B 717 HhELEE
(+HHT) B 718-1 BEHE
(+HHT) B 758-8 BEHE
= HETRTH 718-5 (+HHT) B 718-5 MELEE
= HETRTH 722-3 (+HHT) B 722-3 MELEE
= HETRTH 722-4 (+HHT) B 722-4 hELEE
(+BH7) B 743-5 BEME
(+BH7) B 743-10 BEME
= HETRTH 722-6 (+HHr) B 722-6 HMBELER
= HETRTH 724-4 (+HHr) B 724-4 HMBELER
= HETRTH 725 (+HHr) B 726-2 BEME
(+BH7) H 742-2 BEME
(+ 5 Hr) B 725 HhELE
(+ HHr) B 725-2 BEME
(+HHT) H 732-2 BEME
(+ HHr) H 733-3 BEME
(+HHT) H 734-2 BEME
= HETRTH 725-5 (+ 5 Hr) B 725-5 HhELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 725-7 (+ B H71) B 726-13 BEHhE
(+ B HT) T 725-4 SEHE
(+ BHT) B 725-7 MELE
= HETRTH 725-8 (+HHT) B 725-8 HMBELE
=S HETRTH 725-9 (+HHr) B 735-6 BEHE
(+ B H7) B 725-1 BEHE
(+ B H7) B 725-9 MELE
(+ B H7) B 743-1 BEHE
(+ B H7) B 743-7 BEHE
= HETRTH 725-12 (+ B H7) B 725-12 MELE
= HETRTH 725-14 (+ B H7) B 725-14 MELE
= HETRTH 725-15 (+ B H7) B 725-15 MELEE
= HETRTH 725-16 (+ B H7) B 725-16 MELE
= HETRTH 725-17 (+ B H7) B 725-17 MELEE
= HET/ATH 725-18 R Hh &
=S HET/ATH 725-19 R
=S HET/ATH 725-20 iR Hh &
= HETRTH 725-21 iR Hh
= HETRTH 725-22 iR
= HETRTH 725-23 iR Hh
= HETRTH 725-24 iR Hh
= HETRTH 725-25 iR Hh
= HETRTH 725-26 iR Hh
= HETRTH 725-27 iR Hh &
= HETRTH 725-28 iR Hh
= HETRTH 725-29 iR Hh &
= HETRTH 725-30 iR Hh &
= HETRTH 725-31 (+ B Hr) B 725-3 MELEE
= HETRTH 725-32 (+ B Hr) B 725-6 MELEE
= HETRTH 726-8 (+HHT) B 726-8 MELEE
= HETRTH 726-9 (+HHT) B 726-9 MELEE
= HETRTH 726-15 (+HHT) B 726-15 MELEE
(+HHT) B 732-6 BEHhE
(+HHT) H 733-10 BEME
= HETRTH 733-4 (+HHT) B 742-3 BEME
(+HHr) B 733-4 HMBELER
(+BH7) H 734-3 BEME
= HETRTH 733-9 (+HHr) B 735-7 BEME
(+HHr) B 733-9 HMBELER
= HETRTH 735-8 (+HHr) B 735-8 HMBELER
(+BH7) H 745-9 BEME
= HETRTH 740-3 (+ 5 Hr) H 740-3 HhELE
= HETRTH 740-5 (+ HHr) H 740-5 HhELE
(+ HHr) H 749-3 BEME
(+BH7) B 745-4 BEhE
(+ HHr) B 745-5 BEME
= HETRTH 740-6 (+ 5 Hr) H 740-6 HhELE
(+BH71) B 749-2 BEME
(+BH71) B 745-3 BEME
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 743-2 (+HHT) B 743-2 HMBELE
= HETRTH 743-3 (+HHT) B 743-3 HMBELE
= HETRTH 743-4 (+HHT) B 743-4 HMBELE
= HETRTH 745-1 (+HHT) B 745-1 hWELER
= HETRTH 745-6 (+HHT) B 745-6 HMBELE
= HETRTH 745-7 (+ B H7) B 745-7 MELE
SHET/ATH 745-12 (+ EHT) B 745-12 MELE
(+ B H7) A 25-2 BEHE
= HETRTH 7461 (+ B H7) B 746-1 MELE
= HETRTH 749-4 (+ B H7) B 749-4 MELE
= HETRTH 749-6 (+ B H7) B 749-6 MELE
SHETARTH 751-1 (+ BHT) B 751-1 HELE
(+ B H7) B 749-1 BEHE
(+ B H7) B 745-2 BEHE
(+ B H7) A 41-14 BEHE
= HETRTH 7521 (+ B H7) B 752-1 MELE
SHETARTH 752-2 (+ BHT) B 752-2 HELE
(+BH71) B 753-4 BEME
(+ HHT) A 25-1 BEHE
= HETRTH 7531 (+ HHT) B 753-1 MELEE
= HERTH 753-3 (+ HHT) H 751-2 BEME
(+ HHT) B 752-3 BEHE
(+ HHT) B 753-3 MELE
(+BH7) B 745-11 BEE
(+ B Hr) B 755-5 BEHE
(+BH7) A 41-13 BEE
= HETRTH 7541 (+ B Hr) B 7541 MELEE
= HETRTH 754-4 (+ B Hr) B 754-4 MELEE
= HETRTH 755-1 (+ B Hr) B 755-1 MELEE
= HETRTH 755-4 (+HHT) B 755-4 MELEE
= HETRTH 7561 (+HHT) H 756-1 MELEE
= HETRTH 7581 (+HHT) H 758-1 MELEE
= HETRTH 758-3 (+HHT) B 758-3 MELEE
= HETRTH 758-4 (+HHT) B 758-4 MELEE
= HETRTH 758-7 (+HHT) B 758-7 MELEE
= HETRTH 759-1 (+HHr) B 759-1 HMBELER
= HETRTH 759-2 (+HHr) H 760-2 BEME
(+HHT) H 760-4 BEHME
(+HHr) H 755-2 BEHE
(+HHr) B 759-2 HMBELER
= HETRTH 759-5 (+HHr) B 759-5 HMBELER
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 760-8 (+ HHr) B 760-5 BEHME
(+ B HT) $ 760-8 MEBELE
(+ B HT) H 762-3 SEHE
(+ B HT) T 767-4 SEHE
(+ B HT) T 767-6 SEHE
(+ B H7) B 774-3 BEHE
(+ B H7) B 774-6 BEHE
(+ B H7) B 775-1 BEHE
(+ B H7) A 41-9 BEHE
SHET/ATH 765-2 (+ EHHT) B 765-2 HELE
(+ B H7) B 765-4 BEHE
(+ B H7) B 772-1 BEHE
(+ B H7) B 772-3 BEHE
(+ B H7) B 772-4 BEHE
(+HHT) B 774-4 BEME
(+ B H7) B 778-1 BEHE
(+ B H7) B 778-7 BEHE
(+ HHT) H 778-10 BEME
(+ HHT) H 778-13 BEME
= HERTH 765-3 (+ HHT) F 760-1 BSEME
(+ HHT) B 765-3 MELEE
(+BH71) B 774-5 BEME
(+ HHT) B 775-2 BEHhE
= HETRTH 769 (+ B Hr) B 769 MELEE
= HETRTH 771-2 (+ B Hr) B 771-2 MELEE
= HETRTH 7741 (+ B Hr) B 760-6 SEME
(+ B Hr) B 762-1 BEHE
(+ B Hr) B 7671 BEHhE
(+ B Hr) B 767-3 BEHhE
(+HHT) B 765-1 BEHE
(+HHT) B 765-5 BEHE
(+HHT) B 772-2 BEHE
(+HHT) B 772-5 BEHhE
(+BH71) B 773 BEME
(+HHT) B 7741 MELEE
= HETRTH 774-17 iRt
= HETRTH 774-8 iRt
= HETRTH 778-3 (+HHr) B 778-3 HMBELER
(+HHr) B 778-8 BEHE
(+BH7) B 778-14 BEME
(+HHr) B 778-15 BEHE
(+HHT) H 780-4 BEME
= HETRTH 778-4 (+ HHr) B 778-4 HMBELER
= HETRTH 778-5 (+ HHr) H 774-2 BEME
(+ HHr) B 778-5 HhELE
(+HHT) H 778-11 BEME
= HETRTH 778-9 (+ 5 Hr) B 778-9 HhELE
= HETRTH 778-12 (+ BH71) H 778-12 MhELER
= HETRTH 778-16 iR &
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 778-17 R Hh
= HETRTH 778-18 R Hh T
=S HETRTH 785-2 (+ HHr) B 789-3 BEHE
(+HHT) H 789-10 ESEHE
(+ BHT) H 785-2 hELE
(+ B H7) B 785-6 BEHE
SHET/ATH (785-4) (+ EHT) B 789-6 BEHME
(+HHT) H 791-2 BEME
(+HHT) H 791-5 BEME
(+ B H7) B 792-3 BEHE
(+ B H7) B 785-4 MELE
(+ B H7) B 785-5 BEHE
(+ B H7) B 788-1 BEHE
(+ B H7) B 788-4 BEHE
SHETARTH (788-2) (+ BHT) B 789-4 BEME
(+ B H7) B 789-7 BEHE
(+HHT) H 791-3 BEME
(+ HHT) B 788-2 MELEE
= HETRTH (788-3) (+ HHT) B 789-5 BSEME
(+ B H7) B 789-8 BEHhE
(+BH7) B 791-4 BEME
(+ HHT) B 788-3 MELEE
= HETART B 788-5 iR Hh
= HETRTH 789-9 (+ B Hr) H 689-2 BEHhE
(+BH7) H 690 BEE
(+ B H7) B 785-3 BEHE
(+ B Hr) B 789-9 MELEE
= HETRTH 789-12 (+ B Hr) B 789-12 MELEE
= HETRTH 791-6 (+ B Hr) B 791-6 MELEE
= HETRTH 791-7 iRt
= HETRTH 791-8 iRt
= HETRTH 791-9 iRt
= HETRTH 792 (+HHT) B 792 hELEE
(+ B H7) B 785-1 BEHhE
= HETRTH 793 (+HHT) B 793 MELEE
= HETRTH 793-1 iRt
= HETRTH 793-4 iRt
= HETRTH 793-5 iRt FE
= HETRTH 793-6 iRt
= HETRTH 793-7 iRt
= HETRTH 793-8 iRt
= HETRTH 793-9 iR &
= HETRTH 793-10 iR &
= HETRTH 846 (+ HHr) 7 846 HhELE
= HETRTH 847 (+ HHr) B 847 HMBELER
= HETRTH 848-1 (+ HHr) B 848-1 HMBELER
= HETRTH 848-2 iR &
= HETRTH 849-3 (+ BH71) - 849-3 HMBELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
=S HETARTH 849-4 (+ B H71) B 849-1 BEHhE

(+HHT) B 849-4 HMBELE

(+ B HT) T+ 868-1 SEHME
= HETRTH 849-5 (+HHT) B 849-5 HMBELE
= HETRTH 849-6 (+HHT) H 849-6 HMBELE
= HETRTH 849-7 (+ B H7) B 849-7 MELE
= HETRTH 849-8 (+ B H7) H 849-8 MELE
=S HET/ATH 849-9 R Hh &
=S HET/ATH 850-3 R Hh &
=S HET/ATH 850-4 R Hh &
=S HET/ATH 850-5 R Hh &
=S HET/ATH 850-6 R Hh &
=S HET/ATH 850-7 R
=S HET/ATH 850-8 R Hh
= HET/ATH 850-9 R Hh &
=S HET/ATH 850-10 R
= HETRTH 8511 (+ B H7) - 851-1 MELE
= HETRTH 851-2 NEME
= HETRTH 851-3 NEME
= HETRTH 851-4 NEME
= HETRTH 851-5 iR Hh
= HETRTH 851-6 iR Hh
= HETRTH 851-7 iR Hh
= HETRTH 851-8 iRt &
= HETRTH 8631 (+ B Hr) B 863-1 MELEE
= HETRTH 863-2 DEMEF
= HETRTH 863-3 DEMEF
= HETRTH 863-4 HriRh &
= HETRTH 863-5 iRt
= HETRTH 863-6 iRt
= HETRTH 863-7 iRt
= HETRTH 863-8 iRt
= HETRTH 8641 (+HHT) - 864 NEMBE
= HETRTH 864-2 NEME
= HETRTH 864-3 iRt
= HETRTH 864-4 iRt
= HETRTH 864-5 iRt
= HETRTH 864-6 iRt FE
= HETRTH 865-1 (+HHr) B 865-1 HMBELER
= HETRTH 865-2 (+HHr) B 865-2 HMBELER
= HETRTH 865-3 iRt
= HETRTH 865-4 iR &
= HETRTH 866 (+ HHr) T 866 HhELE
= HETRTH 8661 iR &
= HETRTH 867 (+ HHr) 7 867 HMBELER

(+BH7) B 867-1 BEME
= HETRTH 867-2 iR &
= HETRTH 867-3 iR &
= HETRTH 867-4 iR &
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 867-5 R Hh
= HETRTH 868-3 (+HHT) H 868-3 HMBELE
=S HETRTH 871 (+HHT) B 871 HhBELE
(+ B HT) T 873 EEME
(+ B HT) T 875-2 SEHE
=S HETRTH 874-2 (+ B H7) B 874-2 MELE
(+ B H7) B 875-1 BEHE
(+ EHHT) 876 BEME
(+ B H7) B 877-2 BEHE
(+ EHHT) B 878 BEME
(+ B H7) B 879-1 BEHE
SHETARTH 877-1 (+ BHT) B 877-1 HELE
(+ B H7) B 879-2 BEHE
(+ BHT) B 880 BEME
(+ BHT) - 881 BEME
=S HET/ATH 877-3 R
= HETRTH 882-1 (+ B H7) 7 882-1 MELE
= HETRTH 882-2 (+ HHT) F 882-2 MELEE
= HETRTH 882-3 (+ HHT) F 882-3 MELEE
= HETRTH 882-4 (+ HHT) - 882-4 MELEE
= HETRTH 882-5 (+ HHT) B 882-5 MELEE
= HETRTH 882-6 iR Hh
= HETRTH 883-3 (+ HHT) H 883-3 hBELER
(+BH7) T 884 BEE
(+ B Hr) H 885-3 BEHE
(+BH7) T 886 BEE
(+BH7) B 887 BEE
(+BH7) T 888 BEE
(+BH7) H 889 BEE
= HETRTH 883-4 (+HHT) - 883-4 hELEER
(+BH71) H 885-4 BEME
= HETRTH 883-5 (+HHT) H 883-5 MELEE
= HETRTH 883-6 (+HHT) - 883-6 MELEE
= HETRTH 883-7 (+HHT) H 883-7 MELEE
= HETRTH 883-8 (+HHT) - 883-8 MELEE
= HETRTH 883-9 iRt
= HETRTH 883-10 iRt
= HETRTH 891 (+HHr) B 891 HMBELER
= HETRTH 892-1 (+HHr) B 892-1 HMBELER
(+HHr) H 898-2 BEHE
= HETRTH 892-4 (+HHr) B 892-4 HMBELER
= HETRTH 892-5 (+ 5 Hr) - 892-5 HhELE
= HETRTH 893-3 (+ HHr) - 893-3 HhELE
= HETRTH 897-4 (+ HHr) H 897-4 HMBELER
= HETRTH 897-5 (+ HHr) B 897-5 HhELE
(+ HHr) - 898-4 BEME
= HETRTH 897-6 (+ 5 Hr) B 897-6 HhELE
=S HETRTH 897-7 (+HHr) H 897-7 MhELER
(+BH71) B 898-9 SEME
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I ENERE [SHEEKTE]

FEEHE (3 AERIHE (1) =
= HETRTH 897-8 (+HHT) B 897-8 HMBELE
= HETRTH 897-9 (+HHT) B 897-9 HMBELE
= HETRTH 897-11 (+ B H71) F 897-11 hWELR
= HETRTH 898-3 (+HHT) H 898-3 HMBELE
= HETRTH 898-6 (+HHT) - 898-6 HMBELE
= HETRTH 898-7 (+ B H7) B 898-7 MELE
= HETRTH 898-8 (+ B H7) B 898-8 MELE
= HETRTH 899 (+ B H7) B 899 MELE
= HETRTH 900-2 (+HHT) H 900-2 HMBELE
= HETRTH 901-1 (+ B H7) F 901-1 MELE
= HETRTH 901-2 (+HHT) H 901-2 HMELE
SHETARTH 902-2 (+ BHT) B 902-2 HELE

(+HHT) H 903-7 BEME
=S HET/ATH 902-3 R Hh
= HET/ATH 902-4 R Hh &
=S HET/ATH 902-5 R
= HETRTH 903-2 (+HHT) H 903-2 HMELE
= HETRTH 903-3 (+ HHT) H 903-3 MELEE
= HETRTH 903-4 (+ HHT) F 903-4 MELEE
= HERTH 903-8 (+ HHT) H 903-8 hBELEER

(+ B H7) H 903-9 BEHE

(+ B H7) H 905-3 BEHE

(+ B H7) H 905-5 BEHhE

(+BHT) H 906-3 BEHhE
= HETRTH 903-11 (+HBHr) F 903-11 MELEE
= HETRTH 905-2 (+ B Hr) H 905-2 MELEE
= HETRTH 905-4 (+HBHr) B 905-4 MELEE
= HETRTH 905-6 (+ B Hr) H 905-6 hELEER

(+ B H7) H 907-2 BEHhE

(+ B H7) H 907-5 BEHE

(+ B H7) F 908-1 BEHE

(+ B H7) H 909-1 BEHE
= HETRTH 906-1 (+HHT) F 906-1 MELEE
= HETRTH 906-4 (+HHT) H 906-4 MELEE
= HETRTH 906-5 iRt
= HETRTH 908-2 (+HHr) B 908-2 HhELE

(+BH7) H 909-3 BEHE
= HETRTH 910 (+HHr) B 910 HMBELER

(+BH7) H 912-2 BEHhE
= HETRTH 911 (+HHr) B 911 HhELE
= HETRTH 9121 (+HHr) H 912-1 HMBELER
= HETRTH 912-3 (+ 5 Hr) B 912-3 HhELE
= HETRTH 912-4 iR &
= HETRTH 913-1 (+ HHr) B 913-1 HMBELER
= HETRTH 913-2 (+ HHr) H 913-2 HMBELER

(+BH7) H 915-3 BEME
= HETRTH 913-3 iR &
= HETRTH 914 (+ BH71) B 914 MhELER
= HETRTH 9141 iR &
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 914-2 FriRh
= HETRTH 914-3 FriR
= HETRTH 915-1 (+HHT) H 915-1 hWELR
=S HETRTH 915-2 (+ B H71) B 915-2 HhBELE
(+ B HT) T 915-4 SEHME
(+HHT) H 918-2 BEME
(+HHT) H 921-3 BEME
(+HHT) H 921-5 BEME
(+HHT) B 924-6 BEHE
(+HHT) F 980-3 BEME
(+HHT) F 982-2 BEHE
(+HHT) F 9841 BEHE
(+HHT) H 984-3 BEHE
(+HHT) H 984-4 BEME
(+HHT) F 991-1 BEHE
(+HHT) H 991-3 BEME
(+HHT) H 991-4 BEME
(+ HHT) H 991-5 BEHE
(+ HHT) H 1001 BEHhE
(+ HHT) H 1001-1 BEME
(+ HH) H 1001-3 BEME
(+BH71) B 1001-4 BEME
(+ HHT) H 1001-5 BEME
(+ BHT) H 1001-6 BEME
(+ BHT) H 1001-7 BEME
(+ BHT) H 1001-8 BEME
(+ BHT) H 1008-1 BEME
(+BH7) H 936 BEE
(+ B Hr) F 936-1 BEHhE
(+BH71) H 981 BEME
(+BH71) H 985 BEME
(+HHT) F 985-1 BEHE
(+BH71) H 987 BEME
(+HHT) - 987-1 BEHhE
(+HHT) H 987-2 BEHE
= HETRTH 918-1 (+HHr) B 918-1 HhELE
(+HHr) H 919-2 BEHME
= HETRTH 918-3 (+HHr) B 918-3 HMBELER
= HETRTH 919-1 (+HHr) B 919-1 HhELE
(+HHr) F 920-1 BEHhE
= HETRTH 919-3 (+HHr) B 919-3 HMBELER
= HETRTH 920-2 (+ 5 Hr) H 920-2 HMBELER
= HETRTH 921-1 (+ HHr) F 921-1 HMBELER
= HETRTH 921-2 (+ HHr) H 921-2 HMBELER
= HETRTH 921-6 iR &
= HETRTH 921-7 iR &
= HETRTH 9241 (+ 5 Hr) F 9241 HhELEE
(+BH71) B 932-4 BEME
= HETRTH 924-3 (+ BH71) B 924-3 HMBELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 924-7 (+HHT) B 924-7 HMBELE
= HETRTH 925-2 (+HHT) B 925-2 HMBELE
= HETRTH 925-3 (+HHT) B 925-3 HMBELE
= HETRTH 928-3 (+HHT) H 928-3 HMBELE
= HETRTH 928-4 (+HHT) B 928-4 HMBELE
SHET/ATH 928-5 (+ EHHT) B 928-5 HELE
(+ B H7) B 928-10 BEHE
(+ B H7) B 928-11 BEHE
(+ B H7) B 928-12 BEHE
(+ B H7) B 928-13 BEHE
(+ B H7) B 928-14 BEHE
= HETRTH 928-6 (+ B H7) B 928-6 MELEE
= HETRTH 928-8 (+ B H7) H 928-8 MELE
= HETRTH 928-9 (+ B H7) H 928-9 MELEE
= HETRTH 929-3 (+ B H7) H 929-3 MELE
= HETRTH 930-3 (+ B H7) H 930-3 MELE
= HETRTH 930-6 (+ B H7) H 930-6 MELE
= HETRTH 932-3 (+ HHT) H 932-3 MELEE
= HETRTH 932-5 (+ HHT) B 932-5 hBELEER
(+ HHT) B 932-6 BEHhE
= HERTH 933-3 (+ HHT) H 933-3 hBELEER
(+BH71) B 934-3 BEME
= HETRTH 933-4 iR Hh
= HETRTH 938-2 (+ B Hr) H 938-2 hELEE
(+ B Hr) H 938-3 BEHE
= HETRTH 939-3 (+ B Hr) H 939-3 MELEE
= HETRTH 939-4 (+ B Hr) H 939-4 MELEE
= HETRTH 939-5 (+ B Hr) H 939-5 MELEE
= HETRTH 939-7 (+ B Hr) B 939-7 MELEE
= HETRTH 942-2 (+HHT) H 942-2 MELEE
= HETRTH 942-3 (+HHT) H 942-3 MELEE
= HETRTH 942-6 (+HHT) B 942-6 hELEER
(+BH71) H 944-2 BEME
(+BH71) B 944-7 BEME
(+BH71) H 944-8 BEME
(+HHr) H 982-7 EEHE
(+HHT) H 982-12 SEME
= HETRTH 942-7 (+HHr) H 942-7 HMBELER
(+BH7) H 942-9 BEME
(+HHr) H 951-6 BEHE
(+HHr) F 960-1 EEME
(+ 5 Hr) H 960-6 BEME
(+HHT) H 972-1 BEME
(+ HHr) H 982-9 BEME
= HETRTH 942-8 (+ HHr) B 942-8 HhELE
= HETRTH 944-3 (+ HHr) - 944-3 HhELE
= HETRTH 944-4 (+ 5 Hr) F 944-4 HMBELER
(+BH71) B 947-2 BEME
= HETRTH 944-10 (+ BH71) H 944-10 HMBELE
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 945-2 (+HHT) H 945-2 HMBELE
= HETRTH 947-3 R Hh T
= HETRTH 947-4 A Hh
= HETRTH 947-5 AR Hh T
= HETRTH 947-6 R Hh T
=S HET/ATH 947-7 R Hh
=S HET/ATH 947-8 R Hh &
= HETRTH 949-3 (+ B H7) H 949-3 MELE
= HETRTH 951-3 (+ B H7) B 951-3 MELE
SHET/ATH 951-4 (+ EHHT) B 951-4 HELE
(+ EHHT) T 964 BEME
(+ BHT) B 972-5 BEME
(+ B H7) B 971-1 BEHE
(+ B H7) B 961-1 BEHE
= HETRTH 951-7 (+ B H7) B 951-7 MELE
= HETRTH 951-8 (+ B H7) B 951-8 MELE
= HETRTH 951-9 (+ B H7) H 951-9 MELE
= HETRTH 951-10 (+ HHT) H 951-10 MELEE
= HETRTH 951-11 (+ HHT) H 951-11 MELEE
= HERTH 951-12 (+ HHT) H 951-12 hBELEER
(+ HHT) H 960-3 BEHE
(+ HHT) H 960-5 BEHE
(+ HHT) B 972-6 BEHhE
= HETRTH 951-18 (+ B Hr) H 951-18 hELEER
(+BH7) B 954-6 BEE
(+BH7) B 954-10 BEE
= HETRTH 951-19 (+ B Hr) H 951-19 hELEER
(+BH7) B 951-24 BEE
= HETRTH 952-3 (+ B Hr) B 952-3 MELEE
= HETRTH 954-4 (+HHT) H 954-4 MELEE
= HETRTH 954-5 (+HHT) H 954-5 MELEE
= HETRTH 954-9 (+HHT) H 954-9 MELEE
= HETRTH 957-3 (+HHT) H 957-3 MELEE
= HETRTH 958-3 (+HHT) H 958-3 MELEE
= HETRTH 959-3 (+HHT) H 959-3 MELEE
= HETRTH 966-3 (+HHr) B 966-3 HMBELER
(+BH7) H 966-5 BEME
(+HHr) H 966-7 BEHE
(+HHr) H 967-1 BEHE
(+HHr) H 967-9 BEHE
(+BH7) H 968-3 BEME
(+ 5 Hr) H 969-2 BEME
(+ HHr) H 969-4 BEME
(+ HHr) H 969-6 BEME
(+HHT) H 970-2 BEME
(+ HHr) H 971-3 BEME
= HETRTH 969-1 (+ 5 Hr) B 969-1 HMBELER
= HETRTH 969-3 (+ BH71) H 969-3 HMBELE
= HETRTH 969-5 (+ BH71) B 969-5 HMBELE
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I ENERE [SHEEKTE]

FEEHE (3 AERIHE (1) =
= HETRTH 970-1 (+HHT) H 970-1 hELER
= HETRTH 971-2 (+HHT) B 971-2 HMBELE
= HETRTH 971-6 (+HHT) B 971-6 HMBELE
= HETRTH 972-2 (+HHT) B 972-2 HMBELE
= HETRTH 972-3 (+HHT) B 972-3 HMBELE
= HETRTH 972-4 (+ B H7) B 972-4 MELE
= HETRTH 972-7 (+ B H7) B 972-7 MELE
= HETRTH 972-8 (+ B H7) B 972-8 MELE
= HETRTH 972-9 (+ B H7) B 972-9 MELE
= HETRTH 974-2 (+ B H7) B 974-2 MELE
SHET/ATH 975-4 (+ EHHT) B 975-4 HELE

(+ B H7) B 975-5 BEHE

(+ B H7) B 978-1 BEHE

(+ B H7) B 980-F BEME
= HETRTH 975-6 (+ B H7) B 975-6 MELE
= HETRTH 975-8 (+ B H7) B 975-8 MELE
= HETRTH 975-9 (+ B H7) B 975-9 MELE
= HETRTH 980-1 (+ HHT) F 980-1 MELEE
= HETRTH 980-2 (+ HHT) H 980-2 hBELEER

(+BH71) H 980-4 BEME

(+ B H7) H 980-5 BEHE
= HETRTH 980-6 iR Hh
= HETRTH 980-7 iR Hh
= HETRTH 980-8 iRt &
= HETRTH 980-9 iR
= HETRTH 982-4 (+ B Hr) H 982-3 BEME

(+ B Hr) B 982-4 MELEE

(+ B H7) H 982-6 BEHhE
= HETRTH 1009 (+ B Hr) H 1009-1 MELEE
= HETRTH 1009-3 iR th &
= HETRTH 1009-4 iR th &
= HETRTH 1009-5 iR th &
= HETRTH 1009-6 iR th &
= HETRTH 1012-1 (+HHT) H 1012-1 MELEE
= HETRTH 1012-2 iR th &
= HETRTH 1012-3 iRt
= HETRTH 1012-4 iRt
= HETRTH 1012-5 iRt FE
= HETRTH 1013 (+HHr) H 1013-1 HMBELER
= HETRTH 1014 (+HHr) H 1014 HMBELER
= HETRTH 1015-1 (+HHr) H 1015-1 HMBELER
= HETRTH 1015-2 (+BH71) NEMBE
= HETRTH 1015-3 iR &
= HETRTH 1015-4 iR &
= HETRTH 1015-5 iR &
= HETRTH 1015-6 iR &
= HETRTH 1015-7 iR &
= HETRTH 1041-1 (+ BH71) & 41-1 MhELER
= HETRTH 1041-4 (+ BH71) & 41-4 MhELER
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I ENERE [SHEEKTE]

FERHE () AERIHE (1) =
= HETRTH 1041-7 (+HHT) A 41-7 HMBELE
= HETRTH 1041-11 (+ B H71) A 41-11 HhELER
= HETRTH 1695-6 (+HHT) B 695-6 HMBELE
= HETRTH 1695-7 (+HHT) B 695-7 HMBELE
= HETRTH 1709-1 (+HHT) F 709-1 hELER
= HETRTH 1733-2 (+ B H7) F 733-2 MELE
= HETRTH 1735-1 (+HHT) B 735-1 HMELE
= HETRTH 1757-1 (+HHT) B 757-1 HMELE
= HETRTH 1758-2 (+ B H7) F 758-2 MELE
= HETRTH 1759-4 (+ B H7) F 759-4 MELE
= HETRTH 1768-1 (+HHT) B 768-1 HMELE
= HETRTH 1770-1 (+ B H7) B 770-1 MELEE
= HETRTH 1771-4 (+HHT) B 771-4 HMELE
= HETRTH 1849-2 (+ B H7) F 849-2 MELEE
= HET/ATH 1850-1 (+ BHT) B 850 NEME
=S HET/ATH 1850-2 NEME
= HETRTH 1868-2 (+ B H7) - 868-2 MELE
= HETRTH 1890 (+ HHT) F 890 MELE
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